## from correlation functions

Under a basic assumption, from the correlation functions  $\langle \mathcal{O}_{1}(\mathbf{x}_{1}) \cdots \mathcal{O}_{s}(\mathbf{x}_{s}) \rangle = \langle \mathcal{O}_{1} \top \mathcal{O}_{1}(\mathbf{x}_{1}) \cdots \mathcal{O}_{s}(\mathbf{x}_{s}) \mid 0 \rangle$ we can read off the · particle spectrum and interactions among particles. Spectrum from two point functions Consider a QFT formulated on Minkowski space Rª H = space of states. Eaction of Poincaré group:  $(\text{translation } DX^{m} P_{m})$ Lorentz  $U(\Lambda)$  :  $\Lambda \in SO(d-1, 1)$ Pn= (H,-IP) commuter with each other ~ I basis of Il in which Pr are diagonalized.

Assumption There are N particles of masses 
$$m_{ij} - m_{N'}$$
  
and  $\mathcal{H}$  is spanned by  
. A state  $|0\rangle$  with  $P_{P} = 0$   
Corresponding to the vacuum without any particle.  
. A state  $|P_{i}, i_{1}, \cdots, p_{R_{i}}, i_{k}\rangle (l \ge 1)$  with  
 $i_{i}$ -th particle of momentum  $P_{i}$ ,  
 $i_{k}$ -th particle of momentum  $P_{k}$ .  
It has energy  $E = \sum_{a=1}^{k} \bigcup_{Pa}^{i_{a}} ; \bigcup_{P}^{i} = \sqrt{P_{+}^{2}} M_{i}^{2}$   
and momentum  $P = \sum_{a=1}^{k} P_{a}$ .  
Remark  
. We have seen that this is the care in free field theories,  
(up to the ground state energy (see below))  
But the assumption is very non-trivial for a general QFT  
which is not necessarily free.

· for a one particle state (p,i) energy is determined by the total momentum  $P = P : E = \sqrt{P + m_i^2}$ . But for states with two or more purticles, for each total momentum IP, the possible values of E = Z / P2+Min is not bounded above. e.g. for two particles of the same type with PI+P2=P, E can take any value s.t.  $2EP_{2} \leq E < \infty$ .



$$\frac{\int Organization / normalization of basis:}{\left\{ |0\rangle \right\} \cup \left\{ |P, \lambda\rangle \right\}_{P} = tritle momentum\lambda = all other labels}$$
  

$$\frac{\langle |0\rangle \right\} \cup \left\{ |P, \lambda\rangle \right\}_{P} = tritle momentum\lambda = all other labels}$$
  

$$\frac{\langle 10\rangle}{P} \cup \left\{ |P, \lambda\rangle \right\}_{P} = tritle momentum(archive species)(discrete label).$$
  

$$\frac{\langle 10\rangle}{P} \cup \frac{\langle 10\rangle}{P} = \frac{P}{P} = \frac{P}{P} + \frac{P}{P} \wedge \frac{P}{P} + \frac{P}{P} +$$

eg. For a particle of mass m, we may use Creation/ann/hikton  
operators of real scalar 
$$[a(p), a(p)^{s}] = \delta^{dm}(h-h')$$
, ...  
to discribe the states:  
One particle state:  $\lambda = \cdot$ ,  
 $[0, \cdot) = a(0)^{\frac{1}{2}}|0\rangle \times \sqrt{(t_{1})^{d-1}}2m$   
 $(p, \cdot) = a(0)^{\frac{1}{2}}|0\rangle \times \sqrt{(t_{1})^{d-1}}2m$   
 $(p, \cdot) = U(\Lambda_{m,p})|0, \cdot) = a(p)^{\frac{1}{2}}|0\rangle \times \sqrt{(t_{1})^{d-1}}2\omega_{p}$   
two particle state:  $\lambda = q_{1}$ ,  
 $[0:q] \rangle = a(q)^{\frac{1}{2}}a(-q)^{\frac{1}{2}}|0\rangle \times C_{q,m}$  Some constant  
 $w/th P=0 + E = 2\omega_{q}$   
 $[p:q] \rangle = U(\Lambda_{2}\omega_{q}, p)|0;q\rangle$   
 $\vdots$   
 $2-particle state:  $\lambda = (q_{1}, \cdots, q_{l_{k}}) \cdot q_{l} + \cdots + q_{k} = v$ ,  
 $[0:q_{1}, \cdots, q_{k}) = a(q_{1})^{\frac{1}{2}} \cdots a(q_{k})^{\frac{1}{2}}|0\rangle \times C_{q_{1}, \cdots} q_{k}$  Forme constant  
 $w_{1}h P=0, E = \omega_{q_{1}} + \cdots + \omega_{q_{k}} = :mq_{q_{1}} \cdot q_{k}$$ 

C

Let us consider the two point function  

$$\left( \bigcirc (4) \bigcirc (5) \right) = \langle 0 | \top \bigcirc (4) \bigcirc (5) | 0 > 0 \\ (\bigcirc (4) \bigcirc (5) \rangle = \langle 0 | \top \bigcirc (4) \bigcirc (5) | 0 > 0 \\ (\bigcirc (4) \bigcirc (5) \rangle = \langle 0 | \bigcirc (5) | 0 \rangle = 0 \\ \text{ st. } (\bigcirc (6) \rangle = \langle 0 | \bigcirc (5) | 0 \rangle = 0 \\ \text{ st. } (\bigcirc (6) \rangle = \langle 0 | \bigcirc (5) | 0 \rangle = 0 \\ \text{ Inserting idge = abase in the middle, we find for  $x^{2} > y^{2} \\ \langle 0 | \bigcirc (4) \bigcirc (5) | 0 \rangle = \oint \int \frac{A^{4^{-1}}P}{(2\pi)^{4^{-1}}2\omega_{P}^{4}} \langle 0 | \bigcirc (6) | P \land X \rangle \langle P \land | \bigcirc (5) | 0 \rangle \\ \langle 0 | \bigcirc (6) | P \land X \rangle = \langle 0 | \bigcirc P^{2} \bigcirc (6) \bigcirc P^{2} | P \land X \rangle \\ \langle 0 | \bigcirc (6) | P \land X \rangle = \langle 0 | \bigcirc P^{2} \bigcirc (6) \bigcirc P^{2} | P \land X \rangle \\ = e^{-iP_{P,\Lambda}X} \langle 0 | \bigcirc (0) | P \land X \rangle \\ 0 | \bigcirc (1 \cap A \land A \cap B) | 0 \land X \rangle \\ 0 | \text{ is a Scher} \\ = e^{-iP_{P,\Lambda}X} \langle 0 | \bigcirc (5) | 0 \rangle = e^{-iP_{P,\Lambda}Y} \langle 0 \land X | \bigcirc (6) | 0 \rangle$$$

 $\therefore \langle 0|0(x)0(y)|\rangle \rangle = \oint \int \frac{\lambda^{-1}P}{(2\pi)^{n-1}2\omega_{IP}^{n}} \frac{e^{iP_{P,\lambda}(x-y)}}{(2\pi)^{n-1}2\omega_{IP}^{n}} \frac{e^{iP_{P,\lambda}(x-y)}}{(2\pi)^{n-1}2\omega_{IP}^{n}}$ 

q

Similarly for <0/0(5) (12) 0> for y°>x°

## <01701x1019107

 $= \frac{1}{2} \int \frac{\lambda^{4} \left(P - \omega_{P}^{2} + \gamma^{2}\right) + \left(P \cdot \left(x - y\right)\right)}{\left(2\pi\right)^{4} \left(2\omega_{P}^{2}\right)} \left(2\omega_{P}^{2}\right) + \left(P \cdot \left(x - y\right)\right)} \left(2\omega_{P} - \omega_{P}^{2}\right) + \left(2\omega_{P}^{2}\right) \left(2\omega_{P}^{2}\right) \left(2\omega_{P}^{2}\right) + \left(2\omega_{P}^{2}\right) \left(2\omega_{P}^{2}\right) \left(2\omega_{P}^{2}\right) \left(2\omega_{P}^{2}\right) + \left(2\omega_{P}^{2}\right) \left(2\omega_{P}^{2}\right) \left(2\omega_{P}^{2}\right) \left(2\omega_{P}^{2}\right) + \left(2\omega_{P}^{2}\right) \left(2\omega_{P}^{2}\right) \left(2\omega_{P}^{2}\right) \left(2\omega_{P}^{2}\right) \left(2\omega_{P}^{2}\right) + \left(2\omega_{P}^{2}\right) \left(2$ 

$$\int \frac{d^{d} p}{(2\pi)^{d}} \frac{i e^{-ip(x-y)}}{p^{2} - m_{x}^{2} + io} =: D_{F}(x-y)_{m_{x}}$$

$$= \int_{0}^{\infty} \frac{dn^{2}}{2\pi} \mathcal{P}(M^{2}) D_{F}(x-y)_{M}$$

where 
$$\mathcal{P}(M^{2}) := \underbrace{\ddagger}_{\lambda} \underbrace{2\pi \mathcal{S}(M^{2} - M^{2}_{\lambda}) \left| \langle 0, \lambda | \mathcal{O}(0) | 0 \rangle \right|^{2}}_{\lambda}$$
  

$$= \underbrace{\sum_{i=1}^{N} 2\pi \mathcal{S}(M^{2} - m^{2}_{i}) Z_{i} + \underbrace{\mathcal{P}_{mutri}(M^{2})}_{multiparticle \ continuum}$$

$$Z_{i} := \left| \langle 0, i | \mathcal{O}(0) | 0 \rangle \right|^{2} \qquad \text{Supported on } M^{2} \ge 4 M_{min}^{2}$$

Fourier transform of the two point function:

(x e (0 TO (x) O (0) 0)  $= \int_{\infty}^{\infty} \frac{dM^{2}}{2\pi} \rho(M^{2}) \frac{i}{\rho^{2} - M^{2} + i\rho}$  $= \sum_{i=1}^{N} \frac{i Z_{i}}{p^{2} - M_{i}^{2} + i \circ} + \int \frac{dM^{2}}{2\pi i} \int_{mutr}^{mutr} (M^{2}) \frac{i}{p^{2} - M^{2} + i \circ}$   $= 4M_{mutr}^{2}$ pole for each particle branch cut on (4min, 00) wish Zi ≠ 0 ۴²  $4m_1^2$  $m_{1}^{2} m_{2}^{2}$ m<sup>2</sup> m<sup>2</sup>

ſO

## Asymptotic states

Stattering process freely E freely propagating propagating particles  $\leftarrow$ interaction particles X, free ) = (y free) t=-00  $t = +\infty$ T = 04) time evolution 4, free > X, free time evolution X >out S-matrix (x, free | S | 4, free > = out (x | 4 >in We need (4) and (X) at

((

For simplicity, consider a theory with a single species of scalar  
particle of mass m.  
Suppose 
$$\exists a$$
 hermitian scalar operator  $(0, st.)$   
 $\langle 0|(O(x)|0\rangle = 0, \langle 0|O(x)|0\rangle = \sqrt{2} \neq 0.$   
Then  $\langle P|(O(x)|0\rangle = \sqrt{2} e^{iP_{P}X} = \sqrt{2} e^{i\omega_{P}t - iP_{P}X}$   
Then  $\langle P|(O(x)|0\rangle = \sqrt{2} e^{iP_{R}X} = \sqrt{2} e^{i\omega_{P}t - iP_{P}X}$   
For a positive energy wave packet  $f(x)$   
 $f(x) = \int_{(T,T)} \frac{d^{T}k}{2\omega_{R}} \tilde{f}(w) e^{iP_{R}X}$   
define  
 $O_{f}(t) := \frac{-i}{\sqrt{2}} \int d^{T}x f(t,x) \tilde{d}_{t} O(t,x)$   
 $\int o(O_{f}(t)|0\rangle = -i \int d^{T}x \int \frac{d^{T}k}{(t,x)^{T}2\omega_{R}} \tilde{f}(w) e^{i(P_{R}-P_{R})X} i(\omega_{R}+\omega_{R})$   
 $= \tilde{f}(P) (t - independent)$   
of  $\langle 0|O_{f}(t)|P\rangle = -i \int d^{T}x \int \frac{d^{T}k}{(t,x)^{T}2\omega_{R}} \tilde{f}(w) e^{i(P_{R}+P_{R})X} i(\omega_{R}-\omega_{R})$   
 $= 0$ 

$$i3$$

$$\operatorname{multiparticle state}(\mathfrak{p},\lambda \mid \mathcal{O}_{\mathfrak{f}}(\mathfrak{t}) \mid \delta \rangle =$$

$$-i\int d^{4}x \int \frac{d^{4}k}{(2\pi)^{4}2} \widetilde{\mathcal{U}}_{\mathfrak{k}} \widetilde{\mathfrak{f}}(\mathfrak{l}_{\mathfrak{k}}) \ e^{i(\mathcal{P}_{\mathfrak{k}} - \mathcal{P}_{\mathfrak{p}},\lambda) \cdot \chi} \ i(\mathcal{U}_{\mathfrak{k}} + \mathcal{U}_{\mathfrak{p}}) \langle \mathfrak{O},\lambda \mid \mathcal{O}(\mathfrak{d}) \mid \delta \rangle$$

$$= \frac{\omega_{\mathfrak{p}} + \omega_{\mathfrak{p}}^{\lambda}}{2 \omega_{\mathfrak{p}}} \ \widetilde{\mathfrak{f}}(\mathfrak{l}) \langle \mathfrak{O},\lambda \mid \mathcal{O}(\mathfrak{d}) \mid \delta \rangle e^{i(\omega_{\mathfrak{p}}^{\lambda} - \omega_{\mathfrak{p}})t}$$

$$\operatorname{For} \ a \ \operatorname{text} \ \operatorname{state} \ |\Psi \rangle,$$

$$\langle \Psi \mid (\mathcal{O}_{\mathfrak{f}}(\mathfrak{t}) \mid \delta \rangle = \langle \Psi \mid \delta \rangle \langle \mathfrak{d} \mid \mathcal{O}_{\mathfrak{f}}(\mathfrak{t}) \mid \delta \rangle = \widetilde{\mathfrak{f}}(\mathfrak{l})$$

$$+ \int \frac{d^{4^{-1}}\mathfrak{p}}{(2\pi)^{4^{+2}} \omega_{\mathfrak{p}}} \langle \Psi \mid \mathfrak{p} \rangle \langle \mathfrak{p} \mid \mathcal{O}_{\mathfrak{f}}(\mathfrak{t}) \mid \delta \rangle = \widetilde{\mathfrak{f}}(\mathfrak{l})$$

$$+ \int \frac{d^{4^{-1}}\mathfrak{p}}{(2\pi)^{4^{+2}} \omega_{\mathfrak{p}}} \langle \Psi \mid \mathfrak{p} \rangle \langle \mathfrak{p} \mid \mathcal{O}_{\mathfrak{f}}(\mathfrak{t}) \mid \delta \rangle = \widetilde{\mathfrak{f}}(\mathfrak{l})$$

$$(\mathfrak{t}_{\mathfrak{f}}) = \widetilde{\mathfrak{f}}(\mathfrak{l}) = \widetilde{$$

i.e. 
$$\mathcal{O}_{f}(t) | o \rightarrow \underbrace{t \to t \infty}_{(2\pi)^{d-1} Z \omega_{p}} | p > \widehat{f}(p) =: | f >$$

$$U(t) = e^{-itH}$$
Note:  $|f\rangle = U(T) U(-T) |f\rangle$ 

$$= U(T) \int \frac{a^{d-p}}{(t^{2}T)^{d-2} U_{p}} [I_{p}\rangle \overline{f}(I_{p}) e^{-i\omega_{p}(-T)}$$
free propagation of one perticle
with use packet f at  $t = -T$ 
its time evolution to  $t = D$ 

$$T \rightarrow \infty : |f\rangle = |f\rangle_{in}$$

$$T \rightarrow -\infty : |f\rangle = |f\rangle_{in}$$
Thus
$$U_{f}(t) |0\rangle \xrightarrow{t \rightarrow \pm \infty} |f\rangle = |f\rangle_{in} = |f\rangle_{sut}.$$
adjoint (
$$C_{f}(t) |0\rangle \xrightarrow{t \rightarrow \pm \infty} \langle f| = |f\rangle_{in} = |f\rangle_{sut}.$$
adjoint (
$$C_{f}(t) \xrightarrow{t \rightarrow \pm \infty} \langle f| = \int_{u} \langle f| =$$

fi(x), ..., fn(x): wave packets with no overlap at (t)-100 ۰ fz fz  $(\mathcal{O}_{f_1}(-\tau) - \mathcal{O}_{f_n}(-\tau) | o >$ 

$$= \bigcup(\tau) \bigcup(\tau)^{-1} \prod_{i=1}^{-1} \int_{\overline{z}} \int_{\overline{z}} \int_{\overline{z}} \int_{\overline{z}} \int_{\overline{z}} \int_{\overline{z}} \int_{\overline{z}} \int_{\overline{z}} (-\tau, x_i) \int_{\overline{z}} \bigcup(-\tau, x_i) |\partial\rangle$$

$$= U(T) \prod_{i=0}^{1} \frac{-i}{\sqrt{2}} \int d^{*} \times_{i} f_{i}(-T, \times_{i}) \overline{\partial}_{i} O(0, \times_{i}) | 0 \rangle$$

$$(f_{1}, \dots, f_{n})_{i_{n}} = \lim_{T \to \infty} \mathcal{O}_{f_{1}}(-T) - \mathcal{O}_{f_{n}}(-T) |_{0} >$$

$$= \lim_{T_{i} \to \infty} \lim_{T_{n} \to \infty} \mathcal{O}_{f_{1}}(-T_{i}) - \mathcal{O}_{f_{n}}(-T_{n}) |_{0} >$$

The ordering does not matter since fi, -: fn has no duerlap at  $t \rightarrow -\infty$ .  $\mathcal{O}_{f_i}(\tau) \sim \mathcal{O}_{f_i}(\tau)$  $= \bigcup(\tau)^{-1} \bigcup(\tau) \prod_{i=1}^{n} \frac{-i}{\sqrt{2}} \int d^{*} x_{i} f_{i}(\tau, x_{i}) \overline{\partial_{t}} \bigcup(\tau, x_{i}) | \partial \rangle$  $= U(\tau) \int_{\tau=0}^{1} \int_{\overline{Z}} \int_{\overline{Z}} \int_{\overline{Z}} \int_{\overline{Z}} \int_{\overline{Z}} \int_{\overline{Z}} \int_{\overline{Z}} (\tau, *_{i}) \overline{\partial}_{\overline{z}} O(o, *_{i}) |o\rangle$ free propagation of n particles with wave packets fi,-, fn at t=T its time reversal to t= 0  $\therefore \left[ f_{i_1} - f_n \right]_{out} = \lim_{T \to \infty} \left( \mathcal{O}_{f_i}(T) - \mathcal{O}_{f_n}(T) \right)_{o_i}$  $= \lim_{T_1 \to \infty} \lim_{T_n \to \infty} (\mathcal{D}_{f_1}(T_1) - \mathcal{D}_{f_n}(T_n) | \mathbf{0})$ The ordering does not matter since fi, - i fn has no overlap at  $t \rightarrow +\infty$ .

LSZ reduction formula

$$(9_{1}, ..., 9_{n} \text{ free} | S | f_{0} f_{1}, \text{ free} \rangle = \int_{-T}^{T} dt \frac{2}{2t} O_{f}(t)$$

$$= \int_{-T}^{T} dt \int_{-T}^{T} dt \int_{-T}^{T} dt \frac{2}{2t} O_{f}(t)$$

$$= \int_{-T}^{T} dt \int_{-T}^{T} dt \int_{-T}^{T} dt \frac{2}{2t} O_{f}(t)$$

$$f \partial_{t}^{2} O - \partial_{t} f O$$

$$(V^{2} - m^{2})f$$

$$as f(t, x) \rightarrow o \quad as |x| \rightarrow \infty,$$

$$spatial partial integration is allowed.$$

$$= \int_{-T}^{T} dt \int_{-T}^{T} dt \int_{-T}^{T} dt \frac{2}{2t} (\partial_{t}^{2} - V^{2} + m^{2})O$$

$$= \int_{-T}^{T} \int_{-T}^{T} dt \int_{-T}^{T} dt x f(\partial_{t}^{2} + m^{2})O$$

$$= \int_{-T}^{T} \int_{-T}^{T} dt \int_{-T}^{T} dt x f(\partial_{t}^{2} + m^{2})O$$

$$Tolowy its adjoint$$

$$\mathcal{O}_{g}(\tau)^{\dagger} - \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac{i}{\sqrt{2}} \int dx \ 9^{*} (\partial^{2} + m^{2}) \mathcal{O}_{g}(-\tau)^{\dagger} = \frac$$

18 Consider X TI-TU, TI'TI =  $\frac{\prod_{i=1}^{n} \int d^{4}y_{i} \frac{i}{\sqrt{z}} g_{i}(y_{i})^{*} \prod_{j=1}^{n} \int d^{4}z_{j} \frac{i}{\sqrt{z}} f_{j}(x_{j})}{\int (-T_{i}, T_{i}] \times \mathbb{R}^{d-1}} \qquad (-T_{i}, T_{j}] \times \mathbb{R}^{d-1}$  $\times \left(\partial_{y_{1}}^{2} + m^{2}\right) \cdots \left(\partial_{y_{n}}^{2} + m^{2}\right) \left(\partial_{x_{1}}^{2} + m^{2}\right) \left(\partial_{x_{n}}^{2} + m^{2}\right)$  $\langle 0 | T O(y_1) - O(y_n) O(x_1) O(x_2) | 0 \rangle$  $\int d^{*}y_{1} \frac{i}{\sqrt{2}} \vartheta_{1}(y_{1})^{*}(\partial_{y_{1}}^{2} + m^{2}) \langle v| T O(y_{1}) - O(x_{2}) | v \rangle$  $[-\tau_1,\tau_1] \times \mathbb{R}^{d-1}$  $\xrightarrow{T_{1} \rightarrow \infty} \langle \circ | (\mathcal{O}_{g_{1}}(\infty)^{\dagger} T(\mathcal{O}(\mathcal{I}_{2}) \cdots \mathcal{O}(\mathcal{A}_{r})) | \circ \rangle$  $-\langle 0|T(0|5_{1})-O(x_{1})|U_{5}(-\infty)|0\rangle$ Thus  $X_{\vec{\tau},\vec{\tau}'} \xrightarrow{T_{i}\to\infty} \prod_{i=2}^{n} \cdots \prod_{j=1}^{2} \cdots \cdots (o|U_{j}(\omega)^{\dagger} T(U(y_{i})-U(x_{i})|0))$ Repeating this for T2, --, Tn, we find  $X_{\vec{\tau},\vec{\tau}'} \xrightarrow{T_{i},T_{i},-T_{i}\rightarrow\infty} \prod_{j=1}^{L} \cdots \cdots \langle 0 | U_{s_{i}}(\omega)^{\dagger} \cdots U_{s_{j}}(\omega)^{\dagger} T | U(\tau_{i}) U(\tau_{i}) | 0 \rangle$ ULL 91 --- 921

Further limits :  $\frac{T_{i}^{\prime} \rightarrow \infty}{\left[-T_{i}^{\prime}, T_{i}^{\prime}\right] \times \mathbb{R}^{A-1}} \xrightarrow{i}_{d} \frac{f_{2}(x_{1})(y_{1}^{2} + M^{2})}{\int \mathcal{E}}$  $\left( \begin{array}{c} O_{nf} \left( \begin{array}{c} \mathcal{G}_{1,-7}, \begin{array}{c} \mathcal{G}_{n} \end{array}\right) \mathcal{O}(\mathbf{x}_{L}) \mathcal{O}_{f_{1}}(-\infty) \left| \mathcal{O} \right\rangle - \left( \begin{array}{c} \mathcal{G}_{1,-7}, \begin{array}{c} \mathcal{G}_{n} \end{array}\right) \mathcal{O}_{f_{1}}(\infty) \mathcal{O}(\mathbf{x}_{L}) \left| \mathcal{O} \right\rangle \right) \\ O_{nf} \left( \begin{array}{c} \mathcal{G}_{1,-7}, \begin{array}{c} \mathcal{G}_{n} \end{array}\right) \mathcal{O}_{f_{1}}(\infty) \mathcal{O}(\mathbf{x}_{L}) \left| \mathcal{O} \right\rangle \right) \right)$  $\xrightarrow{T_{1}' \to \infty} (9_{1}, \cdots, 9_{n}) (\mathcal{O}_{f_{1}}(-\infty)) (0) (1-\infty) (1-1) (1$ 1 f1, f2 )out  $\cdot \left( g_{1, \cdots}, g_{n} \right) \left( \mathcal{O}_{f_{2}}(\omega) \left( \mathcal{O}_{f_{1}}(-\infty) \right) \right) \right)$ (fi, fi)our  $- \sum_{out} 9_{i,-}, 9_{n} \left( \mathcal{O}_{f_{i}}(\infty) \mathcal{O}_{f_{2}}(-\infty) \right) \right)$ ()f (00) 0 (fi, t2)our +  $\partial_{ut} \left( 9_{1}, \dots, 9_{n} \right) \left( \mathcal{O}_{t}(\infty) \right) \left( 0_{t}(\infty) \right) \right)$ free free free

$$= \langle g_{i_{j}}, \dots, g_{n} | f_{i_{j}} f_{1} \rangle_{i_{n}} - \langle g_{i_{j}}, \dots, g_{n} | f_{i_{j}} f_{1} \rangle_{out}$$

$$= \langle g_{i_{j}}, \dots, g_{n} \rangle_{free} | S | f_{i_{j}} f_{1} \rangle_{free} \rangle - \langle g_{i_{j}}, \dots, g_{n} \rangle_{free} | f_{i_{j}} f_{1} \rangle_{free} \rangle$$
We obtained a formula
$$\langle g_{i_{j}}, \dots, g_{n} \rangle_{free} | S | f_{i_{j}} f_{1} \rangle_{free} \rangle$$

$$= \langle g_{i_{j}}, \dots, g_{n} \rangle_{free} | f_{i_{j}} f_{2} \rangle_{free} \rangle$$

$$+ \prod_{i=1}^{n} \int_{i_{j}} d_{i_{j}} \frac{i}{\sqrt{2}} g_{i_{j}}(y_{i_{j}})^{*} (\partial_{y_{i}}^{2} + m^{2}) \frac{2}{j^{2}} \int_{j^{2}} d_{i_{j}} \frac{i}{\sqrt{2}} f_{j}(x_{j}) (\partial_{x_{j}}^{2} + m^{2})$$

$$\langle o| T O(y_{n}) \cdots O(y_{n}) O(x_{i_{j}}) O(x_{2}) | o \rangle$$

